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Section A:
Reading Comprehension
In this section, there are three passages, each with 5 questions. Read each passage carefully. Then choose
the best option (a, b, ¢, or d) to answer the questions under the passage. Choose your answer only based
on the information in the passage.
Passage 1
Every business in the 21st century is integrating the use of digital innovation and latest technologies. The
primary aim is gaining the growth for the industry and offering the quality services to the customers. So,
hospitals are accumulating the technologies and digital innovation for providing the best healthcare
services to the patients. One of the best examples is that countries like the U.S. have started integrating
the robotics surgeries. However, the major issue with the technological and digital innovation is its cost.
Every healthcare business cannot afford this technology. The primary problem is financial as it gets tough
for the business to always spend on the technology. It is essential for the business to comprehend the need
for technological advancement as otherwise solving the issue of finance is not an easy thing. Hospitals
cannot take advantage of ifs benefit because of two constraints that are cost and out-of-date IT structure.
Thus, hospitals need to find a solution for the digital innovation and technological transformation in the
industry. Authentication systems are one of the healthcare technologies that are trending but are
expensive for the healthcare industry. Data security is one of the primary issues in almost every
organization, and it becomes difficult to secure the data of customer or even the personal information of
the business. Thus, it is a need to integrate the authentication system for ensuring the data security.
131 - According to the passage, hospitals are .......... ;
a. offering quality services to industry business
b. integrating digital innovation in health services
c. gaining growth for the medical industry
d. supporting patients' use of modern technologies
132 - The use of "robotic surgeries" in the U.S. is given in the passage to show .......... .
a. how strong is the US economy
b. that robots can perform surgery
c. the use of latest technologies in US health system
d. the US as the best country in integrating technologies
133 - Which of the following is correct according to the passage?
a. Cost and old IT structure in hospitals serve as barriers for digital innovation
b. Hospitals can readily bear the cost of digital technologies
c¢. Technological advancements are challenging hospital services
d. Hospitals have recently solved the issues of financing digital technologies
134 - What does the underlined "its" refer to?
a. technological advancement
b. health care business
c. financial problems
d. hospital constraints
135 - According to the passage, authentication systems .......... :
a. deal with primary issues in organizations
b. have difficulty transforming patients' data
c. secure health care system data
d. save patients' personal data
N\ V) axio _/
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Passage 2: )
Studies have found that generosity, both volunteering and charitable donations, benefits the young and the
old physically and psychologically. Volunteering distracts the mind from the stresses and problems of the
self. Many studies show that one of the best ways to deal with the hardships in life is not to just center on
yourself but to take the opportunity to engage in simple acts of kindness. When people think about
helping others, they activate a part of the brain called the mesolimbic pathway, which is responsible for
feelings of gratification. Helping others doles out happiness chemicals, including dopamine, endorphins
that block pain signals and oxytocin, known as the tranquility hormone. Even just the thought of giving
money to a specific charity has this effect on the brain, research shows. According to Dan Ariely, “If you
are a recipient of a good deed, you may have momentary happiness, but your long-term happiness is
higher if you are the giver. The key is to give and help deliberately and thoughtfully, so that other people
benefit from it. Research supports this, and researchers started from a baseline of equal physical
characteristics among study participants, so it was not a case of healthier people being more willing to
volunteer.

136 - According to the passage, .......... .
a. typically the elderly benefit from being generous
b. the young people are often volunteer to be the helpers
c. people mainly benefit from physical foursomes of generosity
d. donors are physically and mentally affected by being helpers

137 - The feeling of happiness is generated as a result of .......... "
a. blocking endorphins secretion

b. restricting dopamine secretion
c. activating mesolimbic pathway
d. stimulating the pain signals
138 - The writer suggests that one should .......... to cope with life sufferings more successfully.

a. beinvolved in charities

b. focus mainly on himself

c. ask for help from charities

d. distract attentions from stress

139 - It is said that helping others leads to .......... happiness.
a. enduring
b. short-time
c. compulsory
d. momentary

140 - It is stated in the passage that .......... :
a. initiation of helping others occurs in healthy people
b. willingness to help others is the key to happiness
c. hardship of life activates the brain help others
d. tranquility of mind leads to generosity
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Passage 3

Scary as it is, it is important for anyone to be able to speak in front of others, whether twenty around a
conference table or a hall filled with a hundred faces. Being able to speak can mean better grades in any
class. It can mean talking the town council out of increasing your property taxes. It can mean talking top
management into buying your plans. You were probably asked to speak in the first place in the hope that
you would be able to articulate a topic that you know something about. Still, it helps to find out about
your audience first. The more you sweat in advance, the less you’ll have to sweat once you appear on
stage. Research your topic thoroughly. Check the library for facts, quotes, books, and timely magazine
and newspaper articles on your subject. Get in touch with experts. Write to them, make phone calls, get
interviews to help round out your material. In short, gather and learn far more than you’ll ever use. You
can’t imagine how much confidence that knowledge will inspire. Careful preparation and a great deal of
practicing are required to make it come together smoothly.

141 - According to the passage, speech delivery is .......... ;
a. fear-provoking but significant
b. mostly suitable for small audience
c. intended for the educated
d. straightforward but redundant

142 - In this passage, .......... is used as an example of a good speech reward.
a. preventing property tax increase
b. getting in touch with experts
c. full payment to top managers
d. sweating before giving a speech

143 - “The more you sweat in advance, the less you’ll have to sweat once you appear on stage”
indicates the .......... -
a. importance of self-confidence and comfort
b. significance of sweating on stage beforehand
¢. importance of preparation and practice
d. significance of an inspiring speech

144 - In order to have enough confidence during a speech you have to .......... !
a. transfer the knowledge to subject experts
b. buy more magazines and newspapers on time
c. write up-to-date articles about your topic
d. gather sufficient information about your topic

145 - The foremost priority in developing the topic of a speech is .......... :
a. knowing about the audience
b. inviting experts of the field
c. choosing an appropriate stage
d. rounding out all the materials

Section B:

Vocabulary Items
Read sentences 146 to 160 carefully. Then choose the best option (a, b, ¢, or d) to complete the blank
space in each question.

146 - The smell of .......... cigarettes always makes me feel sick.
a. stale
b. stained
c. stagnant
d. strangled

N
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147 -

148 -

149 -

150 -

151 -

152 -

153 -

154 -

She does not eat meat; she is a/an .......... of vegetarianism.
a. advocate
b. opponent

c. persecutor
d. intimidator

Health organizations have recently used social media for the .......... of educational ideas
among users who need information.

a. cessation

b. distortion

c. deterioration

d. dissemination

Healthcare costs have been .......... rapidly in recent months; therefore, many people cannot
afford purchasing even the basic health supplies they need.

a. escalating

b. exterminating

c. subsiding

d. plunging

The student was duly granted a full scholarship for a Ph.D. in physiology mainly for
the ..o letter issued by the supervisor of his master's thesis.

a. credential

b. controversial

¢. disquieting

d. dispiriting

The king's .......... policies increased the tension between the two countries.
a. amiable

b. hostile

c. lenient

d. benevolent

It usually takes the smokers a long time to recover from the effects of surgery since
smoking .......... the normal functioning of the heart and lungs.

a. invigorates

b. perpetuates

c. reinforces

d. hinders

Drug addicts do not often .......... the syringes they use; they share them with others or reuse
them, leading to the spread of AIDS.

a. dislodge

b. reserve

c. discard

d. disperse

The obese people exercise a lot to lose weight, but they .......... all their efforts by eating a lot.
a. prolong

b. restore

c. augment

d. neutralize

V¥ axio
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155 -

156 -

157 -

158 -

159 -

160 -

Meditation through constant practice is highly effective for the .......... of mental health.
a. diminution

b. inhibition

c. promotion

d. shrinkage

The excess energy produced in the body after a period of eating large meals will
[ " unless exercise is done to use it up.

a. depleted

b. conserved

c. eliminated

d. consumed

One of the symptoms of her mental disorder is .......... ; even a low sound can lead to her loss
of concentration.

a. compatibility

b. distractibility

c. tranquility

d. serenity

Today's improvements in science and technology will benefit people in the .......... years.
a. subsequent

b. antecedent

c. foregoing

d. preceding

Children .......... by loving parents tend to grow up as affectionate adults in future.

a. nurtured

b. impeded

c. oppressed

d. harassed

Towards the Nowruz holidays, many Iranian airports become heavily .......... with tourists

and passengers.
a. congregated
b. confiscated
c. congested
d. contested

Section C:

Grammar Questions
Read questions 161 to 170 carefully. Then choose the best choice (a, b, ¢, or d) to complete the blank
space in each question.

161 -

162 -

The council insists that the election .......... a running conversation with the public.
a. turninto

b. turns into

c. toturn into

d. turning into

Had we not used an out-of-date train schedule, we .......... the train.
will not miss

have not missed

will not have missed

would not have missed

e op
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163 - Nowadays, children eat more junk food and get less exercise. It is not surprising; .......... , that
the rates of childhood obesity are on the rise.
a. because
b. therefore
c. since
d. owingto
164 - He was advised not to discontinue the medicine .......... this might cause a recurrence of the
symptoms.
a. soasto
b. dueto
¢.  alter
d.  as
165 - According to the latest research findings, further outbreaks of the pandemic .......... in the
future.
a. are expected
b. will be expecting
c. will expect
d. are to expect
166 - The WHO recommends that all people be vaccinated against the Covid-19. .......... , they will
surely catch the infectious disease.
a. In spite of
b. Otherwise
c. Whether
d. Although
167 - The nurse tried all sorts of strategies to help the patient .......... his stress before surgery.
a. overcome
b. to be overcoming
c. tohave overcome
d. overcoming
168 - The injured soldier .......... on the ground for almost an hour before the rescue team arrived
and therapies commenced.
a. had been lying
b. has been lying
c. will be lying
d. islying
169 - The participants in the experimental group, .......... the ones in the control group, were more
physically fit.
a. compared with
b. compare to
c. in comparison
d. tocompare
170 - The Covid-19 pandemic may get Worse, .....cc... universities and educational institutions will

probably continue online courses.
a. which the case

b. in which case

¢. in the case for

d. there will be the case
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